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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14

BiE) | GEBRTK (F) | ERE(EA/AR) | EREREGB/R) (XS R

06:50 283 150.0 2. 888 RS FiHAe06:50 KEFEF (KRAERHSE)
07:25 283 150.0 2.888 BS| FMHA@07:25 KENFEF (RAMEESE)
08:00 283 150.0 2. 888 RS ThHA@O8:00 KENFEF (KAfEEEE)
09:05 283 150.0 2.888 RS FiHAe09:05 KREFEF (KREERHSE)
09:55 283 150.0 2.888 Bg| THA@09:55 KENFESF (ARA1EREE)
10:35 283 150.0 2. 888 RS ThHA@10:35 KENIEF CRAHEER)
11:15 283 150.0 2.888 BE| THR@11:15 KENFEF (RAMERESE)
11:50 283 150.0 2.888 RS FiHRe11:50 REBFE (REAERSR)
12:25 283 150.0 2.888 RS ThHAe12:25 kENFEF (CRAMEEER)
13:00 283 150.0 2. 888 RS FiHRe13:00 KREEF (REAEHSE)
13:35 283 150.0 2.888 RS FiHRe13:35 REHEBF (KRAERSR)
14:10 283 150.0 2.888 BS| THA@14:10 KRENFEF (RAFESE)
14:50 283 150.0 2. 888 RS FiHAe14:50 KREEF GREAERS)
15:30 283 150.0 2.888 RS FiHRe15:30 REHEBFE (REAERSR)
16:20 283 150.0 2.888 BS| TMHA@16:20 KRENFEF (RAEESE)
17:25 283 150.0 2. 888 RS TaHAe17:25 KEIEFE CGRAFEER)
2t 4528.0 (16:%) 2400.0 U REC: 2080.0, PH: 5.8

FEIKECE (1877.0 vs 3853.0) 15
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P3-14_0, Day=68 (2025-06—07)

VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2200

20

988

00

1897

00

- 3000 ~

d-1

L 2000 £

FRV (

- 1000

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=5.8

400 4
300 -
200 -

100 -

ByWoFv

@D68 01:57: ET=1897 Fg=2400.0 Ro=465.0

1.0

10

7
- 3000
- 2000

- 1000

cumET (ml/plant)

16

18

19

20

21

22

23

0.8 -

E3
B

=
B

£33
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 A

600

400 -

200 ~

A

A WarRing:

s, 'PPFD _obs'] is missing

30 1

25 A

20 A

15

rning: col ['T o 'To_obs' ] is missing

80

70

60

50 -

RH

Warning: lcol ['RH obs’, 'RHo obs’] is missin

0.2 0.4

0.6

0.8

1.

0



hour

10:
11:
11:
12:
13:
13:
14:
14:
15:
15:
16:
17:

© 00 N N o o

100

80

- 60

- 40

§_



P3-14

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:30 283 150.0 2. 888 BE| 1BRi%e06:30 B (KAL)
07:05 283 150.0 2.888 S| 1Ri&e07:05 Bzh (GREERSE)
07:50 283 150.0 2.888 BE| {Ri&@07:50 BHal (REAEHE)
08:30 283 150.0 2. 888 RS {Ri%e08:30 Bz (REAMERESE)
09:10 283 150.0 2.888 B {Ri&e09:10 Bz (REAMEESE)
09:55 283 150.0 2.888 BE| {Ri&e09:55 B (REAEHE)
10:35 283 150.0 2. 888 e {Ri8@10:35 Bz (REAERSE)
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24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.8
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810 815 820

T T T T
700 800 900 1000

m=625,m FV0=0

T
600

26.0

25.5 ~

25.0 -

24.5 A

24.0

—— MW

6&0 655
m=720,n FV0=0

33 -

32 -

31 4

30

—— MW

7é5 750
m=840,n FV0=0

720

36

35 A

34 -

33 -

32 -

- MW

840 845 850




m=870, FV0=0

38

37 A

36

35 A

34 -

33 -

—— MW

T
870

T T
875 880

m=990,m FV0=0

42

41 -

40 -

39 -

—— MW

T
990

T T
995 1000

m=900, FV0=0

39 -

38 A

37 A

36

35 A

34 -

—0—

MW

T
900

905 91
m=1020m FV0=0

0

42.5

42.0

41.5 A

41.0

40.5

40.0

——

M_W

T
1020

T
1025

T
1030

m=930, FV0=0

41 A

40 -

39 -

38

37 A

36

——

M_W

930

T
935 940

m=960, FV0=0
42 4
—— MW
41 1
40 -
39
38
T T
960 965 970
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P3-14

RriE) | EBIATK (FD) | EME (EH/) | BEBREE (B/R) |[XKS EFF

06:30 283 150.0 2. 888 RS B21%@06:30 Bzh (RFARES)
07:15 283 150.0 2.888 R Ri%@07:15 Bz (REAERSR)
08:35 283 150.0 2.888 | B31%@08:35 Bz (KPBIERE)
09:25 283 150.0 2.888 A BRi%@09:25 B (KREERE)
10:05 283 150.0 2.888 1] Ri%@10:05 Bz (REERR)
10:45 283 150.0 2.888 ] BRi&e@10:45 Bzl (RPEREE)
11:35 283 150.0 2. 888 A BRige11:35 Bzl (RPBERE)
12:20 283 150.0 2. 888 A Bi%@12:20 Bzh (GRAERESE)
13:10 283 150.0 2.888 (=& Bi%@13:10 Bzh (GRAEESE)
13:55 283 150.0 2.888 (=& B218@13:55 Bzh (RAEESE)
14:40 283 150.0 2.888 (&= B2i%014:40 Bzh (RAKRESE)
16:05 283 150.0 2.888 || FiTe16:05 Bzh (RAEESE)
17:20 283 150.0 2.888 (=& Bi8@17:20 Bzh (RAKESE)
23t 3679.0 (13%) 1950. 0 Z i KEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHEKECE (1773.0 vs 3587.0) 45



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=66 (2025-06-05)

R S i et
V1, VO ®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2600
100 - 2208
i 1800 [18pgs4- 2000

- 3000

S I - 1000
00

Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150 -

100

50 -

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

7] 3000

I
Bylnit @D68 01:58: ET=1831 Fg=2100.0 Ro=438.0

- 2000

- 1000

4004 0 | 1 2 ] 3] 41 5] 6] 78 9 [ 1011 [ 1213 14]15]16] 17 ] 18] 192021 ]2 | 253000
B | i | B (2= 5 | [ | & | B [FA | BA [ FH [ FA | BA [P | BH | BA [P | BAH | B8 [P | BAH | BB | PH

300 1ByEt @66 19:31: ET=1746 Fg=1800.0 Ro=nan i | 2000
— e ®& @

- 1000

—

4004 0 | 1 2 [ 3 4[5 [ 67 [8JoJwo[trJi12]T@8]14]15]16]17 20 [ 21 [ 22 [ 23 F %000
BB | B[2=| i | B | B | B |[Z[ W | B [H W IZZ[(ZE|ZZ|Z2[(ZE5| B | B [ W |2x[25] W

1
300 1 ByWoF v @D68 01:58: ET=1656 Fg=1950.0 Ro=399.0
1
1
1
1
1
1

- 2000

200 -
- 1000

ET (ml/hr/plant)

100 A

10—k o __a 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0ol B | B | M B | M | % | % | [B=| W | W | B | W (2222122221220 | B | W 22|52 W

0.6

0.4+

0.2~

0.0
1500 { | n

[ ] | _obs
—@— PPFD_obs

60 -

RH
[ ] RH_obs
[ ) RHo_obs

40 -

“ a.. e v {

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T
400

T T
600 800

m=595,m FV0=0

39.5 -

39.0

38.5

38.0

660 665
m=760,n FV0=0

39.5 -

39.0

38.5

765 7%0
m=965,n FV0=0

40. 50 ~

40. 25 ~

40. 00 ~

39.75

39. 50

39. 25

970 975

m=420, FV0=0

38. 0 -

37.5 -

37.0 -

36.5 -

39.

39.

39.

39.

38.

38.

38.

T
420

T T
425 430

m=630,m FV0=0

75 A

50 A

25 -

00 -

75 -

50

25 A

——

630

T T
635 640

m=810,m FV0=0

40.0 A

39.5 A

39.0 -

38.5 A

——

810

815 820

42 -

40 4

38 -

36

%3

—o— MW

400

600 800

39.

39.

38.

38.

38.

38.

37.

40.

40.

39.

39.

39.

39.

38.

m=485, FV0=0

25 A

00 ~

75 -

50 A

25 -

00 A

75

T T
490 495

m=660,m FV0=0

25 A

00 -

75 -

50 A

25 -

00 -

75 -

T T
665 670

m=855,m FV0=0

40. 0 -

39.5

39.0 A

38.5 -

860 865

m=420,m FV0=0

40 -

39 A

38 A

37 A

36

35 -

425 430

39.

39.

38.

38.

40.

39.

39.

40.

40.

39.

39.

39.

39.

m=530, FV0=0

—0— M_E

550 5%5 5é0
m=705,n FV0=0

705 7i0 7%5
m=900,n FV0=0

960 965 9%0
m=485,n FV0=0

43 4

42 -

41 -

40 4

39 A

38 A

-o— MW

485 490 495




m=590, FV0=0

42

41 -

40 -

39 -

38 -

—o—

M_W

550

5%5
m=705,n FV0=0

T
560

40.5 -

40.0

39.5 A

39. 0 -

38.5 -

38.0

——

M_W

705

710
m=900,n FV0=0

T
715

43

42

41 -

40 -

—o—

M_W

900

905

910

m=595, FV0=0

42 -

41 -

40 -

39 -

38

—0—

MW

595

660
m=760,n FV0=0

T
605

41 -

40 -

39 A

38

37 A

—0—

M_W

760

7é5
m=965,n FV0=0

T
770

43 A

42 -

41 4

40 ~

—— MW

965

970

975

m=630, FV0=0

40.0

39.5 A

39.0 A

38.5

38.0

37.5 A

——

MW

T
630

635
m=810,m FV0=0

T
640

42

41

40

39 A

38 A

—— MW

T
810

815

820

m=660, FV0=0

41.0 A

40.5 A

40. 0 -

39.5 A

39. 0 -

38.5 A

—0—

M_w

42

T
660

665
m=855,n FV0=0

T
670

41 -

40 -

39

38

—— MW

T
855

T
860

865
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P3-14

BriE) | GEBERTC (FD) | EME (EH/AR) | ERERE (B/R) (KR IR

06:50 288 150.0 2.888 BS| 1Ri%e06:50 Bz (RF{REEE)
07:35 288 150. 0 2.888 | RE| 1Rige07:35 Hzh CGRAEESE)
08:40 288 150. 0 2.888 | M5| {Ri%e08:40 Hzh (KAEEHSE)
09:35 288 150.0 2.888 BS| 1Ri%e09:35 Bz (GRE{EEESE)
10:20 288 150. 0 2.888 | H5| 1Ri&@10:20 Hzh (KAL)
11:05 288 150. 0 2.888 | RE| {Rige11:05 Bzh CGREAEESE)
11:50 288 150.0 2.888 S| 1Rige11:50 Bz (GGREEEEE)
12:30 288 150. 0 2.888 | H5| 1Rige12:30 Bz (RAERR)
13:10 288 150. 0 2.888 | RE| {Rige13:10 Bzh CGREAEESE)
13:50 288 150.0 2.888 B 1Rige13:50 Bzh (RFMERSE)
14:30 288 150.0 2.888 BS| 1Ri%e14:30 B3 (GREMEESE)
15:05 288 150. 0 2.888 | RKE| IRige15:05 Hzh CGREAEESE)
15:45 288 150.0 2.888 BE| {Rige15:45 Bz CGREAERSE)
16:35 288 150.0 2.888 BS| 1Ri%e16:35 B (GREMEESE)
21t 4032.0 (14)%) 2100.0 32#%KEC: 2080.0, PH: 5.8

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
HERECE (1780. 0 vs 3447.0) i H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=65 (2025-06—04)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= ]
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET 7
2600 [p601 [ 3000
100 + 2218
1800 713 2000
401
%07 40 - 1000
140 Warning: lcol [FVI',| "FVO’'] missing
0 + - 02
200_( Vi — ME P
FRV maxM -} 40
e ——— LB BB - d —— e e e N
190 1 | T -
100 ] i I =
- A mARRERRUIRRE
1.0 34
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
200 i
Bylnit @DGS 01:58: ET=1970 Fg=2400.0 Ro=531.0 t
300 - - 3000
200 - - 2000
100 - 1000
400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0 T 0 T 0 0 0 0 0 0 0 0 0 0
300 - ] - 3000
ByEt @D65 19:06: ET=2276 Fg=2601.0 Ro=nan 1
200 - - 2000
100 - 1000
o —o -

400 4 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0 T T 0 0 0 0 0 T 0
300 - i - 3000

ByWoFv pDGS 01:58: ET=1713 Fg=2100. 0 Ro=458.0

200 - : - 2000
1

100 : - 1000
1

1.0 0

i B 1 2 3 4

AR AN AN AN

0.6 -

0.4 1

0.2 A

0.0

—_— 4

—@— PPFD obs

| _obs

60

40 -

RH
RH_obs
RHo obs

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T T T
600 800 1000

m=580,m FV0=0

38.75 1+ —@— M_E

38. 50 -

38. 25 A

38. 00 -

37.75 -

37. 50 A

580 585 590
m=715,m FV0=0
—— ME

39. 75 A

39. 50 ~

39. 25 A

39. 00 ~

38. 75 -

38. 50 A

7%5 7é0 755
m=855,m FV0=0
-— ME

40. 0 ~

39. 5 A

39.0 +

855 860 865

36.

36.

35.

35.

35.

35.

39.

39.

38.

38.

38.

38.

37.

40.

39.

39.

39.

39.

38.

40.

40.

40.

39.

39.

39.

39.

m=465, FV0=0

25 -

00 -

75 1

50

25 -

00 A

M_E

4%0 4%5
m=615,n FV0=0

25 4

00 -

75 -

50

25 H

00 A

75 A

650 6é5
m=745,n FV0=0

00 -

75 -

50

25 -

00 A

75 A

745 750 755

m=885,m FV0=0

50

25 -

00 -

75 -

50 -

25 A

00 -

-o— ME

i
i
w

885 890 895

37.

37.

37.

36.

36.

36.

36.

39.

39.

38.

38.

38.

38.

40.

40.

39.

39.

39.

39.

38.

40.

40.

40.

39.

39.

39.

39.

m=500, FV0=0

50 A

25 A

00 -

75 1

50 -

25 A

00 ~

—0— ME

565 5%0
m=650,n FV0=0

25 A

00 ~

75

50 A

25 A

00 ~

/

665 6é0
m=780,n FV0=0

650

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

—o— ME

il

780 785 790

m=920,m FV0=0

50 A

25 -

00 ~

75 -

50 -

25 A

00 -

-o— M_E

920 925 930

m=535, FV0=0

38.5 -

38.0 A

37.5 A

37.0 A

39.

39.

39.

38.

38.

38.

40.

40.

39.

39.

39.

39.

38.

40.

40.

40.

40.

39.

39.

39.

M_E

5&0 5&5
m=685,n FV0=0

50

25 -

00 -

75 A

50 -

25 A

GéO 6é5
m=820,n FV0=0

25 A

00 -

75 1

50

25 -

00 -

75 -

855 850
m=955,n FV0=0

820

75 4

50 -

25 A

00 -

75 -

50

25 -

-o— M_E

955 960 965




40.

40.

40.

40.

39.

39.

39.

m=990, FV0=0

75

50 -

25 -

00 ~

75

50 -

25 A

—0—

M_E

990

9é5 10b0
m=500,n FV0=0

40 ~

38 A

36

—— MW

500

565 5%0
m=650,n FV0=0

41

40 -

39 A

38 A

—o— MW

6é5 6é0
m=780,n FV0=0

42 -

41

40 -

39 -

38 A

-— MW

780

785 790

40.

40.

40.

40.

39.

39.

m=1035, FV0=0

M_E

43 -

42 -

41 -

40 ~

39 -

38 -

42 -

41 -

40 ~

39 A

38

42

41 -

40 -

39

38 A

1020 1d45
m=535,n FV0=0

T
1035

—o— MW

5&0 5&5
m=685,n FV0=0

—o— MW

660 655
m=820,n FV0=0

685

- MW

7
=
7

820 825 830

42
40 -
38 -
36 -
34
—— mw
T T T
600 800 1000
m=580,m FV0=0

42

41

40 -

39 A

38 -

—o— MW

il

5é5 560
m=715,n FV0=0

42

41

40 -

39 -

38 A

—o— MW

i

7é0 755
m=855,n FV0=0

715

42

41

40 -

39 -

38 -

-o— MW

855 860 865

m=465, FV0=0

37

36

35 -

34 -

33 A

—— MW

4;0 4;5
m=615,n FV0=0

42 -

41

40 -

39 A

38

—— MW

650 6&5
m=745,n FV0=0

42 -

41 -

40 -

39 -

38 -

—— MW

750 765
m=885,n FV0=0

745

42 -

41 -

40 4

39 A

- MW

885 890 895




m=920, FV0=0

—— MW
42
41
40 -
39
38_ T T T
920 925 930

m=955, FVO0=0
—— MW

42 -
41 -
40 -
39 -

T T T

955 960 965

m=990, FV0=0

43 -
—o— MW

42
41
40 -

T T T

990 995 1000

m=1035, FV0=0
43 ——
42
41
40 -
T T T
1035 1040 1045
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P3-14

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

07:45 300 150.0 2. 888 RS {Ri8e07:45 Fzy (REERSE)
08:25 300 150.0 2.888 BE| {Ri&e08:25 Fx (REAEEE)
09:30 300 150.0 2.888 RS {Ri%@09:30 Fz (REAEHE)
10:20 300 150.0 2. 888 e Ri8@10:20 Fzn (REAEHSE)
11:10 300 150.0 2.888 Bl Rige11:10 Fzi (REEHE)
11:55 300 150.0 2.888 e Rige11:55 Fzf (REEHE)
12:40 300 150.0 2.888 B Rige12:40 Fzy (REAERE)
13:20 300 150.0 2. 888 Bl Rige13:20 Fz (REEEE)
14:05 300 150.0 2.888 S| Rige14:05 Fz (REAEHE)
14:50 300 150.0 2.888 BS| 1Ri%e14:50 Fzh GGREEERSE)
15:35 300 150.0 2.888 RS Ri%e15:35 Fzi (KREAERSR)
16:30 300 150.0 2.888 BE| Rige16:30 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

FERECE (1860. 0 vs 3461.0) 145

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=64 (2025-06-03)

150- ------------------------------------------------------------------------------------- ._3000
VI, VO/3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2300 2218
100 + 1800 809 I 2000
419 571
50 -
20 1000
Warning: lcol [FVI',| "FVO’'] missing 140
0 1 -
(I — ME By
200 A
100 +
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i
300 +—ByiInit @DGS 01:58: ET=1293 Fg=1500.0 Ro=218.0 t
: - 2000
200 - :
1
I - 1000
100 - I
1
1
0-=‘ L. 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
S A A A LA A A A A A A A A A A A A A A A A
- 2000
ByEt @D64 19:05: ET=1560 Fg=1809. 0 Ro=nan
200 A 1
1
1 |
100 / lk : 1000
1
0 :==:l::iE=¥—~—=L—*-i‘———ir———i ‘I \\\\\1“‘_k\\\\\______—_—— 0
10 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
W | % | B [ m | % | m %[ m %[ m % %% % 5% 5|6 &%
1 - 2000
ByWoFv pDGS 01:58: ET=1571 Fg=1800.0 Ro=372.0
200 ~
1
1
I - 1000
100 - I
1
1
F———‘Ff;Ez © 5
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
P 0 0 0 0 0 0 0 0 0 0 M N
0.6 -
0.4 1
0.2 A
0.0
—_— 4

| _obs
—@— PPFD obs

RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



38.

38.

38.

37.

37.

37.

39.

39.

38.

38.

38.

38.

37.

39.

39.

39.

38.

38.

38.

400

T T
600 800

m=605,m FV0=0

50 A

25 -

00 ~

75

50 -

25 A

——

6%0 6%5
m=780,n FV0=0

25 A

00 -

75 -

50 A

25 -

00 ~

75 -

780

7é5 760
m=975,n FV0=0

50 -

25 -

00 ~

75 -

50 A

25 A

—o—

975

980 985

m=440, FV0=0

37.0 A

36. 5

36. 0

35.5 -

38.

38.

38.

38.

37.

37.

37.

39.

39.

38.

38.

38.

38.

37.

T T
445 450

m=650,m FV0=0

75 1

50 -

25

00 -

75 -

50

25 -

T T
655 660

m=830,m FV0=0

25

00 -
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